
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

1٫494 × 100 = ________ 2٫332 × 1000000 = ________

4٫19 × 1000000 = ________ 9٫503 × 10 = ________

8٫246 × 1000000 = ________ 2٫945 × 100 = ________

3٫581 × 10 = ________ 5٫099 × 100 = ________

10٫54 × 100000 = ________ 1٫897 × 1000000 = ________

7٫202 × 10 = ________ 8٫084 × 100000 = ________

3٫822 × 10000 = ________ 10٫571 × 100 = ________

9٫462 × 10 = ________ 6٫321 × 10000 = ________

1٫31 × 1000 = ________ 9٫217 × 10 = ________

2٫468 × 1000000 = ________ 7٫486 × 100 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

1٫494 × 100 = 149.4 2٫332 × 1000000 = 2332000

4٫19 × 1000000 = 4190000 9٫503 × 10 = 95.03

8٫246 × 1000000 = 8246000 2٫945 × 100 = 294.5

3٫581 × 10 = 35.81 5٫099 × 100 = 509.9

10٫54 × 100000 = 1054000 1٫897 × 1000000 = 1897000

7٫202 × 10 = 72.02 8٫084 × 100000 = 808400

3٫822 × 10000 = 38220 10٫571 × 100 = 1057.1

9٫462 × 10 = 94.62 6٫321 × 10000 = 63210

1٫31 × 1000 = 1310 9٫217 × 10 = 92.17

2٫468 × 1000000 = 2468000 7٫486 × 100 = 748.6
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